Review #1

Recall:  the exterior angles of a polygon always have a sum of 360(

       And the formula to find the sum of the interior angles of a regular polygon is




180(n – 2)   if n is the number of sides.


-- Regular polygons have all angles congruent and all sides congruent
Find the following:

1.) The sum of the measures of the exterior angles of a parallelogram.
2.) The measure of each exterior angle of an octagon.

3.) The sum of the measures of the interior angles of a pentagon.

4.) The measure of each interior angle of a regular pentagon.

5.) The measure of each interior angle of a regular 14-gon.

6.) The measure of each exterior angle of a regular hexagon.

7.) The sum of the measures of the interior angles of a decagon.
8.)  The measure of an interior angle of a regular polygon is 150˚.  Which polygon is this? 

9.)  This polygon is regular…find p.

Review #2

Recall:  the relationships angles can have with each other, and the relationships formed by the intersection of a transversal with two parallel lines.

1.) Which of the following are never congruent?

a.) vertical angles    b.) same-side interior angles   c.) alternate interior angles    d.) corresponding angles

    e.) none of these
2.) From the figure on the right…

a.) name a pair of adjacent angles.

b.) name a pair of vertical angles.

c.) name a pair of alternate interior angles.

d.) name a pair of corresponding angles.

3.) If <1 and <2 are adjacent angles and m<1 = 2x + 12, and m<2 = 4x – 14, and the measure of angle ABC is 88(, then what is the value of x?





4.) If a transversal intersects a pair of parallel lines so that a pair of same-side interior angles are congruent, what must their angle measures be?


5.)  Find w:



Review #3

Recall: the different types of triangles and their properties

1.) A triangle with all sides having different lengths is _________.

2.) The longest side of a right triangle is the ___________.

3.) If two angles of one triangle are congruent to two angles of another triangle, and the included sides are congruent, then the triangles are congruent by ________. 

4.) A base angle of an isosceles triangle is 38(, what is the measure of the vertex angle?

5.) If two right triangles each have a hypotenuse that is 25cm a leg that is 15cm, then the triangles are congruent by ____________.

6.) The vertex angle of an isosceles triangle is 50(, what is the measure of one of the base angles?

7.) If one of the base angles of an isosceles triangle is 44(, what is the measure of the vertex angle?

8.) In triangle MAD;  m<M = 55( and m<D = 84(.  Find the longest side.  



Review #4

Recall: the properties and characteristics associated with different types of parallelograms.

True/False

1.) The diagonals of a parallelogram are congruent.

2.) The sides of a rectangle are perpendicular.

3.) The opposite angles of a rhombus are supplementary.

4.) A rectangle has all sides congruent.

5.) The diagonals of both a rhombus and a square are perpendicular.

6.) A square is the only parallelogram with diagonals that bisect each other.

Fill in the blank

7.) A trapezoid with congruent legs is called a(n) _______________ trapezoid.

8.) A parallelogram with all sides congruent must be a ________________.

9.) If a quadrilateral has exactly one pair of parallel sides, then it is a ___________.

10.)  If a quadrilateral has both pairs of opposite sides congruent, then you can prove that this quadrilateral is a _____________.

11.)  If the diagonals of a parallelogram are congruent, then the parallelogram must be a _____________.


12.)  Find the value of x and y on this rectangle
13.)  For this rhombus, find x, y, and z.
Review #5

Recall: the definition and aspects of Conditional Statements

“If the quadrilateral is a parallelogram, then the quadrilateral has opposite sides parallel.”

1.) What is the hypothesis of the above statement?

2.) What is the conclusion?

3.)  What is the converse of the statement?

4.) What is the inverse of the statement?
5.) What is the contrapositive of this statement?

Answer the following: 

6.) Is the converse of a conditional statement always true?

7.) If a statement and its converse are true, they can be combined into a single statement using the words “if and only if”.  What is the new combined statement called?

8.) Write the following two statements as a biconditional:

“if two lines are parallel, then the lines are coplanar lines that never intersect.”


“if two coplanar lines never intersect, then the lines are parallel.”

Review #6

Recall: that algebra is sometimes needed to find the solution of a problem in geometry
1.) The three angles of triangle are 2x + 20(, 4x – 5(, x + 25(…find x.

2.) Find the value of y




3.) Find w



4.) Find p




5.) Find x and y



6.)  The supplement of an angle is 10 less than 3 times its complement.  What is the measure of the angle?
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